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Area of Trapezium
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Calculate according to the figures : Trapezium Area = (Upper Base + Lower Base) x Height +2
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Lower base : 0 ( cm ) ; Lower base : 4 (. m );
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Area : (2+6)xH=+2 Area @ (2+4)x5+2
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Upper base : 8 ( cm ); Upper base : 9 ( cm ) ;
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Lower base :_ 12 ( cm oy Lower base : 19 ( cm oy g
Height - 12 ( cm ) ; Height 9 (cm ) ;
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Area : (8+12)X12—2 Area:(9+15)X9+2
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Calculate with solutions :
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Area = (94+17)x18+2 Area = (124+16)x15+2
= 234m? = 210m?
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Area = (25+33)x35=+2 Area = (18442)x30+2
=1015cm? = 900m?
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Complete the table :
i3 T & = mAE, 2
Upper Base(cm) Lower Baseg cm) Height(cm) Area (cm®)
® 15 25 8 160
@ 3 13 1 88 D
® 27 33 9 010 | Lo\ ;
@ 4 6 13 65
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